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JEAAE—LAREICBITAMSFHRERNERR

FR7EHE : 4R132-7

SHM2EE
AR XR Bl S MR A7RY R SR Bl =
5cm 50c¢m 100cm
Dt A IDER (2 ANHLE) — 0.07 — PA-1000
11/6(£)EY @I RYEKED — 0.09 — PA-1000
@R FHi — 0.08 — PA-1000
@it B (5 R &%) — 0.07 — PA-1000
5/13(K)EEN Q@¥RYERERD — 0.08 — PA-1000
Q@R FHi — 0.06 — PA-1000
TERE3EE
BB KR B2 MR A7R B B =
5cm 50cm 100¢m
Ot A DER (2 RN — 0.08 — PA-1000
11/6 GK) BEH @ RYEKEO — 0.11 — PA-1000
@R FH — 0.07 — PA-1000
Ot A DER (2 A ML) — 0.08 — PA-1000
5/9(K)EN @3 ~YEKEA — 0.08 — PA-1000
@ FHI — 0.08 — PA-1000
2/8 (BR22)



JEAAE—LAREICBITAMSFHRERNERR

FR7EHE : 4R132-7

SRR 304E E
AR XR Bl S MR A7RY R SR Bl =
5cm 50c¢m 100cm
Dt A IDER (2 ANHLE) — 0.08 — PA-1000
11/5(R) BN Q¥ ~RYERER — 0.08 — PA-1000
@R FHi — 0.08 — PA-1000
@it B (5 R &%) — 0.08 — PA-1000
5/10(K)EY @ RYEKED — 0.10 — PA-1000
Q@R FHi — 0.08 — PA-1000
TR0
AT R XE B MR A7R B B =
5cm 50cm 100¢m
Ot A DER (2 RN — 0.08 — PA-1000
11/7CR) BN @ RYEKEO — 0.09 — PA-1000
@R FH — 0.09 — PA-1000
Ot A DER (2 A ML) — 0.07 — PA-1000
5/8(R)EEN @3 ~YEKEA — 0.11 — PA-1000
@ FHI — 0.08 — PA-1000
3/8 (BR22)



JEAAE—LAREICBITAMSFHRERNERR

FR7EHE : 4R132-7

SRR 284E E
AR XR Bl S MR A7RY R SR Bl =
5cm 50c¢m 100cm
Dt A IDER (2 ANHLE) — 0.08 — PA-1000
11/7(R) BN Q¥ ~RYERER — 0.11 — PA-1000
@R FHi — 0.10 — PA-1000
@it B (5 R &%) — 0.10 — PA-1000
5/12(K)EEN Q@¥RYERERD — 0.10 — PA-1000
Q@R FHi = 0.11 — PA-1000
ERE21EE
BB KR B2 MR A7R B B =
5cm 50cm 100¢m
Ot A DER (2 RN — 0.11 — PA-1000
11/6 (&) BEh @ RYEKEO — 0.09 — PA-1000
@R FH — 0.11 — PA-1000
Ot A DER (2 A ML) — 0.11 — PA-1000
5/8(&) N @3 ~YEKEA — 0.12 — PA-1000
@ FHI — 0.12 — PA-1000
4/8 (BR22)



JEAAE—LAREICBITAMSFHRERNERR

FR7EHE : 4R132-7

FRE264E
BI%E B - K IR B AENE (Y A70 2 —AhEE) 155 e
5cm 50c¢m 100cm
OB o ER (X R MEi%E) — 0.12 — PA-1000
2/4(K)EEN @I NY&EEO — 0.14 — PA-1000
QR FHI — 0.13 — PA-1000
OBt o ER (X X MEfiZE) — 0.12 — PA-1000
11/6(K)EN @I NY&EO — 0.12 — PA-1000
QR FHI — 0.13 — PA-1000
DBt L ER (X R MELE) — 0.12 — PA-1000
8/5 (M) HEN — 0.14 — PA-1000
QR FHI — 0.14 — PA-1000
OB B ER (X R M%) — 0.14 — PA-1000
57 (K EN @I NY&EO — 0.14 — PA-1000
@R FHI — 0.15 —_ PA-1000
5/8 (BR22)
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A 421327

T RR254ERE
HER- KR AT RER (e Aony — 2R HES ti%
5cm 50c¢m 100cm
Dt i ED (X A MERZE) — 0.14 — PA-1000
3/6(K) Bh Q@FRYEKEO — 0.15 — PA-1000
QR F Al — 0.15 — PA-1000
- Oghith ol &8 (¥ X L) — 0.16 — PA-1000
1/32%}%?%,3” Q@I RY&EREO — 0.15 — PA-1000
QR FHl — 0.16 — PA-1000
DBt L ER (X R MELE) — 0.15 — PA-1000
11./50K) Bh Q@3 RY&EEDO — 0.15 — PA-1000
QR F Al — 0.17 — PA-1000
Oghth Bl EB (F R ML) — 0.15 — PA-1000
o 2(B) Eh ®‘9L'<:Ué.*%|:| — 0.15 — PA-1000
QR F il — 0.15 — PA-1000
DHEEYETEES — 016 — PA-1000 BEREBIE (REFETFIB D AT GEE B S 15 4F)
Oghth Bl EB (F R MEHEE) — 0.15 — PA-1000
771(H) &Y Q@I RYEEO — 0.16 — PA-1000
QR FHl — 0.15 — PA-1000
OEih Bl ER (4 R MEfiZE) — 0.17 — PA-1000
5/15(K) Bh Q@3 RY&EEDO — 0.16 — PA-1000
QR FHI — 0.17 — PA-1000
6/8 (ER22)
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SR ERER (FER23~245F %)

TR 244E
AEE - X AEA ARREATEY BT ] pes %
5cm 50cm 100cm

Dt i ED (X A MERZE) — 0.16 — PA-1000

3/6(K) EEN Q@I RYEEO — 0.16 — PA-1000

QR F i — 0.17 — PA-1000

OFih dh L ER (& R MEfZE) — 0.17 — PA-1000

2/7(K) Bh Q@3 RY&EED — 0.18 — PA-1000

QR FHl — 0.16 — PA-1000

i OEih Bl ER (4 R MfiZE) — 0.17 — PA-1000

25 QFRYERNO — 0.17 — PA-1000

1./10(%F) L =

QR FHi — 0.19 — PA-1000

DEih dh il ER (& R MEf%E) — 0.17 — PA-1000

12/6(K) BN Q¥ RY&KO — 0.19 — PA-1000

QR FHl — 0.18 — PA-1000

OEith Bl ER (4 R MfiZE) — 0.18 — PA-1000

11.79(%) BEh Q@3 RY&EED — 0.17 — PA-1000

QR FHi — 0.17 — PA-1000

Dt i ED (4 R MERLE) — 0.17 — PA-1000

10.75(%) Bh Q@I RYEEO — 0.19 — PA-1000

QR FHl — 0.17 — PA-1000

OEhth L ER (F R NEEEE) — 0.18 — PA-1000

9./6(K) Eh QI RYEKEO — 0.18 — PA-1000

QAR F R — 0. 21 — PA-1000

Dt i ED (X A MEREE) — 0.19 — PA-1000

8/7(k) EEh @I NYEREO — 0. 20 — PA-1000

QR F i — 0.18 — PA-1000

OEhth il ER (2 R NEEEE) — 0.19 — PA-1000

773(K) Bh Q@3 RY&EED — 0. 21 — PA-1000

QR FHI — 0.18 — PA-1000

7/8 (BR22)
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FRR23~ 2445
N N J =
B - KR I m AZE(RXATOY—ANEER) | gz s
5cm 50cm 100cm
Dt i ED (X A MERZE) — 0. 20 — PA-1000
6./14(K) Bh Q@3 RY&EED — 0. 21 — PA-1000
QR F Al — 0.19 — PA-1000
OFih dh L ER (& R MEfZE) — 0. 21 — PA-1000
5/14(A) Bh Q@3 RY&EED — 0. 21 — PA-1000
QR FHl — 0. 21 — PA-1000
OEih Bl ER (4 R MfiZE) — 0. 21 — PA-1000
413(%) £Y Q@3 RYEED — 0. 20 — PA-1000
QR F Al — 0. 22 — PA-1000
DEih dh il ER (& R MEf%E) — 0. 21 — PA-1000
314(K) ENh Q¥ RY&KO — 0. 21 — PA-1000
QR F il — 0. 21 — PA-1000
OEith Bl ER (4 R MfiZE) — 0. 22 0. 22 PA-1000
2/9(K) Bh @I RNYEEO — 0. 24 — PA-1000
QR F Al — 0. 25 — PA-1000
i DEih dh il ER (& R Maf%E) — 0. 22 0. 21 PA-1000
TRAFE QFRYAKEO — 0. 26 — PA-1000
1/16(F) BY =
QR F il — 0. 27 — PA-1000
12 12(8) B Bth i ER (& R NEEE) — 0. 23 0. 21 PA-1000
HE A A —_ 0. 26 — PA-1000
11,780K) EY | ButhdE (X XMEHEE) — 0. 24 0. 23 PA-1000
Bith fhl BB (2 R NEREE) — 0. 25 0. 24 PA-1000
10724(R) &Y oKt — 0. 24 — PA-1000
HiE A A —_ 0. 28 — PA-1000
TR 2345 E Skt — 0. 26 — PA-1000
9./16(&) Hh 1A A _ 0. 28 — PA-1000
8/8 (BR22)



